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QUESTION 1

You want to use a predefined Standard Operation in a Work Definition, but you also want to change the usage of the
Standard Operation resource. Identify the setup required. 

A. Deselect the Referenced check box while adding the standard operation to the work definition and change the usage
manually. 

B. Select the Referenced check box while adding the standard operation to the work definition and change the usage
manually. 

C. Use the Transfer and Edit Standard Operation functionality to edit the resource usage. 

D. Use a Resource exception for the resource and alter its usage. 

Correct Answer: B 

 

QUESTION 2

An order entry specialist creates a Back-to-Back order for product item with an intention of fulfilling by in-house
manufacturing. The fulfillment line is scheduled and Supply Chain Orchestration (SCO) has initiated creation of a Supply
Order rather than Work Order. 

Identify two options that can cause this situation. 

A. Sourcing rules for the product item are defined as Make as well as Transfer. 

B. Sourcing rule for the product item is defined as Make, but Work Definition is not defined. 

C. Sourcing rules for the product item are defined as Buy as well as Transfer. 

D. Sourcing rule for the product item is defined as Buy. 

Correct Answer: AB 

 

QUESTION 3

Which entity should you use to configure the manufacturing plant in Functional Manager? 

A. Legal Entity 

B. Plant 

C. Organization 

D. Business Unit 

Correct Answer: B 
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QUESTION 4

During a Manufacturing Cloud implementation, the Production Supervisor wants to close the work orders for last month
and wants to make sure that the work orders include the correct cost. 

Identify the approach to be taken by the Production Supervisor. 

A. The Production Supervisor need not include cost variances while costing last month\\'s work orders because those
can be applied directly in subledger accounting. 

B. The Production Supervisor needs to include all costs and variances in last month\\'s work orders and close them;
however, the work orders where updates are expected, should not be closed. 

C. The Production Supervisor should make sure that all costs are included while closing last month\\'s work orders;
however, variances can be included after closing the work orders. 

D. Work order costs can be updated anytime regardless of the status of the work order. 

Correct Answer: B 

 

QUESTION 5

The Plant Manager informs you that they have bought several machines for their manufacturing plant ABC. The plant
has been set up with a separate cost element set ABC in Manufacturing Cloud. You are requested to configure these
machines in such a way that those are costed to the work order for which operations are performed on these machines. 

Identify the correct setup that you will advise to the Plant Manager. 

A. Set up the machines as cost element type of "Resource" by selecting Cost Element set ABC. 

B. Set up the machines as cost element type of "Overhead" by selecting Cost Element set ABC. 

C. Set up the machines as cost element type of "Overhead" by selecting Cost Element set Common. 

D. Set up the machines as cost element type of "Resource" by selecting Cost Element set Common. 

Correct Answer: D 
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